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There arc in all 17 questions in this paper, All questions arc compulsory.

Question No. 1 is multiple choice type. Question No. 2 10 6 are of definite answer type.
Question No. 7 to 11 are of very short answer tlype to be answered in about 50 words
each. Question No. 12 to i4 are short answer type to be answered in about 150 words

cach and Question No. 15 to 17 are long answer type to be answered in about 300
words cach.

Marks alloticd to cach question arc mentioned against them.
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{ Multiple Choice Type Questions )
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Four options are given in cach part of question. Write the correct answer in your answer-book

(A) Epigeal germination occurs in -
(i) Bean (i) Gram (1i1) Maize (iv) Rice

(B) Turmip is modification of -
(i) Rool (1i) Stem (1) Leaf (iv) Flower

(C} Who invented Penicillin -
(1) Alexander Flemming (ii) P. Ehrillic {i1i) Robert Koch (iv) S. Walksman

(D) Family of Pea plant is —
(i) Gramineae (i1) Malvaceae (111) Leguminosac  (iv) Cruciferae

(E) Which of the following tissue is responsible for secondary growth —
(i) Phloem (ii) Xylem (iii)) Cambium (iv) Vascular Bundle

FRga sada y=

(Definite Answer Type Questions)

UTepR B T P B 7
What is the function of plumule ?

STTE! Ol @) WS UFRRIT 9 W arel ey @1 A ey |

Write the name of bacteria found in nodulated roots of leguminous plants.

SIoU-I0U0 H Wt fhaw & ?

Who discovered D.N.A, 7

dEdd @ g ?

What is Lichen ?

af2 R U9 3+ GRIRAROT § e ffau |

Write difference between exosmosis and cndosmosis.
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(Very Short Answer Type Questions)

INFETaET Jo1 aFradivadT 1 3R W S | 2

Dilferentiate between aerobic and anaerobic respiration.

ETTA B AT garsy | 2

Write the importance of transpiration,

TUNST TUT Iy § 3N qaigd | 2

Difterentiate between stomata and lenticel.

aray Fies 9 Qg Far wase € ? g fvar fove o A Bl @ 7 2

What do you understand by double fertilization ? In which group of plants this process occurs ?

®re qefie qei @) Rt aqw | 2

Describe the characters of insect pollinated flowers.

oY AN g
{Short Answer Type Questions)
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Write differences in the following —

{a) Flower and Inflorescence

(b) Rootand Stem

A T rEgA o A e fafag 4

Write the difference between mitotic and meiotic cell division.,

o=l a3 & arafYe dvaen &1 afE gvi S 4

Describe the internal structure of dicot stem with the help of suitable diagram.
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(Long Answer Type Questions)
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Describe the light reaction of photo-synthesis. What are the end products of this reaction ?
IAET (OR)
A W T T IR & 7 5 g9ifdd &R aTel R @7 qu B |
What do you understand by transpiration 7 Describe the factors effccting transpiration.
16. =1 o @ 5 e w dfarg Radh fafed - 2+2+2=6
= i
_g () v e (i) 3w B aMRie HEw
;t (i) H=®d (iv) <rarom
é Write short note on any three of the following -
= (1) Respiratory quotient (ii) Economic importance of ycast
g: (iti) Nucleus (iv) Bacteriophage
& :
= \ P . .
=3 17. Fas {60 wed & 7 dei 4 or @ arel A ol Sawt w1 avie i 6
=
E—: What are tissues 7 Describe various types of permanent tissues found in plants.
o
o 3441 (OR)
5
diel # @re B Ry @ fhafaf ansng
Describe the mechanism of translocation of food in plants.
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